
5

2

3

4

1

48 www.bison-america.com  •  e-mail: info@bison-america.com

CLAMP BOLT

Code No. Type For Type

7-196-101 U-5507/1 T.00M

7-196-102 U-5507/0 T.00B

7-196-103 U-6860/0 T.0, T.1, T.1X

7-196-104 U-6175/0 T.2

7-196-105 U-5757/0 T.2T

7-196-106 U-6868/0 T.3, T.3HX

Code No. Type For Type

7-196-001 U-5514/1 T.00M

7-196-002 U-5514/0 T.00B

7-196-003 U-6876/0 T.0, T.1, T.1X

7-196-004 U-5762/0 T.2, T.2T

7-196-005 U-6880/0 T.3, T.3HX

STOP FOR QUICKCHANGE
 TOOLHOLDERS

Code No. Type For Type

7-196-201 U-7485/0 T.0

7-196-202 U-6863/0 T.1, T.1X

7-196-203 U-5760/0 T.2, T.2T

7-196-204 U-6871/0 T.3

7-196-205 U-7487/0 T.3HX

LOCATION PIN

CLAMP PAD

Code No. Type For Type

7-196-401 U-5505/1 T.00M

7-196-402 U-5505/0 T.00B

7-196-403 U-6859/0 T.0, T.1, T.1X

7-196-404 U-6174/0 T.2

7-196-405 U-5756/0 T.2T

7-196-406 U-6867/0 T.3, T.3HX

T WRENCH

	■ T-wrench with 
square socket

Code No. Type For Type

7-196-501 KL 4414-62X51 T0, T1, T1X 8 mm 

7-196-502 KL 4414-82X71 T2, T2T 10 mm

7-196-503 KL 4414-100X108 T3, T3HX 13.5 mm

T WRENCH

	■ T-wrench with 
hexagon socket

Code No. Type For Type

7-196-601 KL 4414-48 T00M, T00B 4 mm

HEX WRENCH

	■ L-wrench with hexagon socket

Code No. Type For Type

7-196-701 KL 4414-48 HEX T.00M, T.00B

7-196-702 KL 4414-62X51 HEX T.0, T.1, T.1X

7-196-703 KL 4414-82X71 HEX T.2, T.2T

7-196-704 KL 4414-100X108 HEX T.3, T.3HX

Code No. Type For Type Shape Diameter Thread

7-196-801 U-5516/1 T.00M 4 mm M5x20

7-196-802 U-5516/0 T.00B 4 mm M5x20

7-196-803 U-6877/0 T.0, T.1, T.1X 8 mm M8x25

7-196-804 U-7386/0 T.2, T.2T 10 mm M10x30

7-196-805 U-6881/0 T.3, T.3HX 13 mm M12x40

TOOLPOSTS SCREW

Code No. Type For Type Shape Diameter Thread

7-196-901 U-5517/1 T.00M 4 mm M5x16

7-196-902 U-5517/0 T.00B 4 mm M5x16

7-196-903 U-6877/1 T.2, T.2T 8 mm M8x25

7-196-904 U-7386/1 T.0, T.1, T.1X 10 mm M10x30

7-196-905 U-6881/1 T.3, T.3HX 13 mm M12x40

TOOLPOSTS SCREW

STUD

Code No. Type For Type

7-196-301 U-5515/1 T.00M
7-196-302 U-5515/0 T.00B
7-196-303 U-8578/0 T.0, T.1, T.1X
7-196-304 U-5754/0 T.2, T.2T
7-196-305 U-5997/0 T.3, T.3HX

SPARE PARTS FOR 8410

Code No. Type For Type

7-590-841 S-2083/0 7-590-041

7-590-841 S-2083/0 7-590-051

7-590-843 S-2030/0 7-590-043

7-590-843 S-2030/0 7-590-053

7-590-855 S-2040/0 7-590-054

7-590-855 S-2240/0 7-590-055

Code No. Type For Type

7-590-941L S-2084/1 7-590-041

7-590-941L S-2084/1 7-590-051

7-590-943L S-2031/1 7-590-043

7-590-943L S-2031/1 7-590-053

7-590-954L S-2041/1 7-590-054

7-590-955L S-2243/0 7-590-055

Code No. Type For Type

7-590-941R S-2084/0 7-590-041

7-590-941R S-2084/0 7-590-051

7-590-943R S-2031/0 7-590-043

7-590-943R S-2031/0 7-590-053

7-590-954R S-2041/0 7-590-054

7-590-955R S-2242/0 7-590-055

	■ Set of 3 drivers for 
right rotations

	■ Set of 3 drivers 
for left rotations

	■ Centering tip

spare partsspare parts

513-713-0513  • www.bison-america.com  •  e-mail: info@bison-america.com48


